

SOME PROPERTIES OF THE p -ADIC LOG BETA FUNCTION

ÖZGE ÇOLAKOĞLU HAVARE, HAMZA MENKEN

ABSTRACT. In the present work we consider the p -adic log beta function. By using properties of the Diomand's log gamma function we obtain some results for the p -adic logarithm beta function.

1. INTRODUCTION

Let p be an odd prime number. By \mathbb{Z}_p , \mathbb{Q}_p and \mathbb{C}_p we denote the ring of p -adic integers, the field of p -adic numbers and the completion of the algebraic closure of \mathbb{Q}_p , respectively. In 1975 Y. Morita [11] defined the p -adic gamma function Γ_p by the formula

$$\Gamma_p(x) = \lim_{n \rightarrow x} (-1)^n \prod_{\substack{j < n \\ (p,j)=1}} j$$

for $x \in \mathbb{Z}_p$, where n approaches x through positive integers. The p -adic gamma function $\Gamma_p(x)$ has a great interest and has been studied by D. Barsky (1977) [2], B. Dwork (1983) [5], T. Kim (1997) [7] and others. Diamond defined and studied the p -adic log gamma function $G_p(x)$ (1977) [4]. In 1980 the p -adic beta function is used in Dwork cohomology and an cohomological interpretation of p -adic beta function is given by M. Boyarsky [3]. In 2015, elementary properties of the p -adic beta function was studied [10].

Its is well known that the classical beta function B is defined by the formula

$$B(x, y) := \frac{\Gamma(x)\Gamma(y)}{\Gamma(x+y)} \quad (1.1)$$

where Γ is the gamma function.

For any function $f \in C^1(\mathbb{Z}_p \rightarrow \mathbb{C}_p)$, the Volkenborn integral of f on \mathbb{Z}_p is defined by the formula (see [14])

$$\int_{\mathbb{Z}_p} f(x) dx := \lim_{n \rightarrow \infty} p^{-n} \sum_{j=0}^{p^n-1} f(j) \quad (1.2)$$

2000 *Mathematics Subject Classification.* 11S80, 11E95.

Key words and phrases. p -adic gamma function, p -adic beta function, Volkenborn integral, Diomand's log gamma function.

©2016 Ilirias Publications, Prishtinë, Kosovë.

Submitted April 14, 2016. Published June 8, 2016.

We note that the p -adic Bernoulli numbers B_n are defined by the Volkenborn integral

$$\int_{\mathbb{Z}_p} x^n dx = B_n \quad (n \geq 0) \quad (1.3)$$

For example, the first few p -adic Bernoulli numbers are

$$B_0 = \int_{\mathbb{Z}_p} dx = 1, B_1 = \int_{\mathbb{Z}_p} x dx = -\frac{1}{2}, B_2 = \int_{\mathbb{Z}_p} x^2 dx = \frac{1}{6}, B_3 = \int_{\mathbb{Z}_p} x^3 dx = 0. \quad (1.4)$$

We note that q -analogue of the Volkenborn integral is defined by T. Kim [9] and some properties related Bernoulli numbers is given in [12]. We recall that the p -adic logarithm functions is defined by formula

$$\log_p(x+1) = \sum_{n=1}^{\infty} \frac{(-1)^{n+1}}{n} x^n. \quad (1.5)$$

where $x \in \mathbb{C}_p, |x|_p < 1$.

Using definition of Volkenborn integral, J. Diamond (1977) ([4]) gave a definition for the p -adic log gamma function as follows

$$G_p(x) := \int_{\mathbb{Z}_p} ((x+u) \log_p(x+u) - (x+u)) du \quad (1.6)$$

for $x \in \mathbb{C}_p \setminus \mathbb{Z}_p$ where \log_p is the Iwasawa p -adic logarithm (see [6]). The p -adic log gamma function and its q -analogue have been in studied in [1] and [8].

The p -adic Stirling series for Diomand's log gamma function is

$$G_p(x) = (x - \frac{1}{2}) \log_p x - x + \sum_{k=1}^{\infty} \frac{B_{k+1}}{k(k+1)x^k} \quad (1.7)$$

for $x \in \mathbb{C}_p, |x|_p > 1$, where B_k is the k th p -adic Bernoulli number.

The function G_p has following basic properties (for detail see [4], [13])

(1) For $x \in \mathbb{C}_p \setminus \mathbb{Z}_p$,

$$G_p(x+1) - G_p(x) = \log_p x. \quad (1.8)$$

(2) For $x \in \mathbb{C}_p \setminus \mathbb{Z}_p$,

$$G_p(x) + G_p(1-x) = 0. \quad (1.9)$$

(3) For each $m \in \mathbb{N}$

$$G_p(x) = (x - \frac{1}{2}) \log_p m + \sum_{j=0}^{m-1} G_p(\frac{x+j}{m}) \quad (x \in \mathbb{C}_p \setminus \mathbb{Z}_p) \quad (1.10)$$

In particular, for $n \in \mathbb{N}$

$$G_p(x) = \sum_{j=0}^{p^n-1} G_p(\frac{x+j}{p^n}) \quad (x \in \mathbb{C}_p \setminus \mathbb{Z}_p) \quad (1.11)$$

(4) Connection with Morita's function Γ_p

$$\log_p \Gamma_p = \sum_{\substack{j=0 \\ |x+j|_p=1}}^{p-1} G_p(\frac{x+j}{p}) \quad (x \in \mathbb{Z}_p) \quad (1.12)$$

2. MAIN RESULTS

Let $E = \{(x, y) : x, y, x + y \in \mathbb{C}_p \setminus \mathbb{Z}_p\}$. We define the p -adic log beta function on E as follows

Definition 1. We define the p -adic log beta function $\log_p B(x, y)$ by formula

$$\log_p B(x, y) := G_p(x) + G_p(y) - G_p(x + y). \quad (2.1)$$

for $(x, y) \in E$.

According to the properties of the Diamond's p -adic log gamma function we obtain the following results, which are properties of $\log_p B(x, y)$.

Theorem 2.1. If $(x, y) \in E$ then

$$\begin{aligned} \log_p B(x, y) &= \sum_{n=1}^{\infty} \frac{B_{n+1}}{n(n+1)} \left(\frac{1}{x^n} + \frac{1}{y^n} - \frac{1}{(x+y)^n} \right) + x \log_p x + y \log_p y \\ &\quad - (x+y) \log_p(x+y) - \frac{1}{2} \log_p \frac{xy}{x+y}. \end{aligned}$$

In particular, if n is even and isn't 0 then

$$\log_p B(x, y) = x \log_p x + y \log_p y - (x+y) \log_p(x+y) - \frac{1}{2} \log_p \frac{xy}{x+y}.$$

Proof. Let $(x, y) \in E$. From Definition 1 we know that

$$\log_p B(x, y) = G_p(x) + G_p(y) - G_p(x+y)$$

By (1.7) we see that

$$\begin{aligned} \log_p B(x, y) &= \left(x - \frac{1}{2}\right) \log_p x - x + \sum_{n=1}^{\infty} \frac{B_{n+1}}{n(n+1)x^n} + \left(y - \frac{1}{2}\right) \log_p y - y + \sum_{n=1}^{\infty} \frac{B_{n+1}}{n(n+1)y^n} \\ &\quad - \left(x+y - \frac{1}{2}\right) \log_p(x+y) - (x+y) + \sum_{n=1}^{\infty} \frac{B_{n+1}}{n(n+1)(x+y)^n} \end{aligned}$$

By simple calculations, we complete the proof. Moreover, using (1.3) and (1.4) we know that if n is even then $B_{n+1} = 0$. Thus, it is completed proof of the theorem. \square

Theorem 2.2. If $(x, y) \in E$ then

$$\log_p B(x+1, y) - \log_p B(x, y+1) = \log_p \frac{x}{y}.$$

Proof. Let $(x, y) \in E$. From Definition 1 we have that

$$\log_p B(x+1, y) = G_p(x+1) + G_p(y) - G_p(x+1+y) \quad (2.2)$$

and

$$\log_p B(x, y+1) = G_p(x) + G_p(y+1) - G_p(x+y+1). \quad (2.3)$$

From (2.2) and (2.3) we get

$$\log_p B(x+1, y) - \log_p B(x, y+1) = G_p(x+1) + G_p(y) - G_p(x) - G_p(y+1) \quad (2.4)$$

Using (1.8) in (2.4) we write

$$\log_p B(x+1, y) - \log_p B(x, y+1) = \log_p x - \log_p y.$$

\square

Theorem 2.3. For any $(x, y) \in E$, the relation

$$\log_p B(x+1, y+1) = \log_p B(x, y) + \log_p \frac{xy}{(x+y+1)(x+y)} \quad (2.5)$$

holds.

Proof. By Definition (1) we obtain that

$$\log_p B(x+1, y+1) = G_p(x+1) + G_p(y+1) - G_p(x+1+y+1) \quad (2.6)$$

Using (1.8) in the equality (2.6) we see that

$$\log_p B(x+1, y+1) = G_p(x) + \log_p x + G_p(y) + \log_p y - G_p(x+1+y) - \log_p(x+y+1)$$

Again, using (1.8) we obtain that

$$\begin{aligned} \log_p B(x+1, y+1) &= G_p(x) + \log_p x + G_p(y) + \log_p y - G_p(x+y) - \log_p(x+y) \\ &\quad - \log_p(x+y+1). \end{aligned}$$

In a similar way, if we rearrange then we obtain the equality (2.5). \square

Theorem 2.4. For any $(x, y) \in E$, the equality

$$\log_p B(x+1, y+1) + \log_p B(-x, -y) = -\log_p(x+y+1).$$

holds.

Proof. Let $(x, y) \in E$. Using Definition (1) we know that

$$\log_p B(x+1, y+1) = G_p(x+1) + G_p(y+1) - G_p(x+1+y+1) \quad (2.7)$$

and

$$\log_p B(-x, -y) = G_p(-x) + G_p(-y) - G_p(-x-y) \quad (2.8)$$

From (2.7) and (2.8) we get that

$$\begin{aligned} \log_p B(x+1, y+1) + \log_p B(-x, -y) &= G_p(x+1) + G_p(y+1) - G_p(x+y+2) + \\ &\quad G_p(-x) + G_p(-y) - G_p(-x-y) \end{aligned} \quad (2.9)$$

Using $-x$ replace x in equality (1.9) we can write

$$G_p(-x) + G_p(1+x) = 0. \quad (2.10)$$

Then, from (2.9) and (2.10) we have that

$$\log_p B(x+1, y+1) + \log_p B(-x, -y) = -G_p(x+1+y+1) - G_p(-x-y).$$

Using (1.8) we see that

$$\log_p B(x+1, y+1) + \log_p B(-x, -y) = -G_p(1+(x+y)) - \log_p(x+y+1) - G_p(-(x+y))$$

By equality (2.10) the proof is completed. \square

Theorem 2.5. If $x, y \in E$ and $m \in \mathbb{N}^+$, then

$$\begin{aligned} \log_p B(x, y) &= \sum_{j=0}^{m-1} \log_p B\left(\frac{x+j}{m}, \frac{y+j}{m}\right) + \sum_{j=\frac{m}{2}}^{\frac{2m-3}{2}} G_p\left(\frac{x+y+2j+1}{m}\right) - \\ &\quad - \sum_{j=0}^{\frac{m-3}{2}} G_p\left(\frac{x+y+2j+1}{m}\right) - \frac{1}{2} \log_p m \end{aligned}$$

In particular, for each $n \in \mathbb{N}$

$$\begin{aligned} \log_p B(x, y) &= \sum_{j=0}^{p^n-1} \log_p B\left(\frac{x+j}{p^n}, \frac{y+j}{p^n}\right) + \sum_{j=0}^{\frac{p^n-3}{2}} G_p\left(\frac{x+y+p^n+2j+1}{p^n}\right) \\ &\quad - \sum_{j=0}^{\frac{p^n-3}{2}} G_p\left(\frac{x+y+2j+1}{p^n}\right). \end{aligned}$$

Proof. Let $x, y \in \mathbb{C}_p \setminus \mathbb{Z}_p$ and $m \in \mathbb{N}^+$. From Definition 1 and (1.10) we know that

$$\log_p B(x, y) = G_p(x) + G_p(y) - G_p(x+y)$$

$$\begin{aligned} \log_p B(x, y) &= \left(x - \frac{1}{2}\right) \log_p m + \sum_{j=0}^{m-1} G_p\left(\frac{x+j}{m}\right) + \left(y - \frac{1}{2}\right) \log_p m + \sum_{j=0}^{m-1} G_p\left(\frac{y+j}{m}\right) \\ &\quad - \left(x+y - \frac{1}{2}\right) \log_p m - \sum_{j=0}^{m-1} G_p\left(\frac{x+y+j}{m}\right) \end{aligned}$$

or

$$\log_p B(x, y) = \sum_{j=0}^{m-1} G_p\left(\frac{x+j}{m}\right) + \sum_{j=0}^{m-1} G_p\left(\frac{y+j}{m}\right) - \sum_{j=0}^{m-1} G_p\left(\frac{x+y+j}{m}\right) - \frac{1}{2} \log_p m$$

Hence we reach the desired result

$$\begin{aligned} \log_p B(x, y) &= \sum_{j=0}^{m-1} \log_p B\left(\frac{x+j}{m}, \frac{y+j}{m}\right) + \sum_{j=0}^{\frac{m-3}{2}} G_p\left(\frac{x+y+m+2j+1}{m}\right) \\ &\quad - \sum_{j=0}^{\frac{m-3}{2}} G_p\left(\frac{x+y+2j+1}{m}\right) - \frac{1}{2} \log_p m \end{aligned}$$

In particular, if $m = p^n$ then from (1.11) we have that

$$\begin{aligned} \log_p B(x, y) &= \sum_{j=0}^{p^n-1} \log_p B\left(\frac{x+j}{p^n}, \frac{y+j}{p^n}\right) + \sum_{j=0}^{\frac{p^n-3}{2}} G_p\left(\frac{x+y+p^n+2j+1}{p^n}\right) \\ &\quad - \sum_{j=0}^{\frac{p^n-3}{2}} G_p\left(\frac{x+y+2j+1}{p^n}\right) \end{aligned}$$

□

In what following connection between $\log_p B(x, y)$ and $\log_p B_p(x, y)$:

Theorem 2.6. For $|x|_p < 1$, $|y|_p < 1$ and $|x+y|_p < 1$, the equality holds:

$$\begin{aligned} \log_p B_p(x, y) &= \sum_{j=1}^{p-1} \log_p B\left(\frac{x+j}{p}, \frac{y+j}{p}\right) - \sum_{j=0}^{\frac{p-3}{2}} G_p\left(\frac{x+y+2j+1}{p}\right) \\ &\quad + \sum_{j=0}^{\frac{p-3}{2}} G_p\left(\frac{x+y+p+2j+1}{p}\right) \end{aligned}$$

Proof. Assume that $|x|_p < 1$, $|y|_p < 1$, $|x + y|_p < 1$. We know that

$$\log_p B_p(x, y) = \log_p \Gamma_p(x) + \log_p \Gamma_p(y) - \log_p \Gamma_p(x + y)$$

and also

$$\log_p \Gamma_p(a) = \sum_{\substack{j=0 \\ |a+j|_p=1}}^{p-1} G_p\left(\frac{a+j}{p}\right) \quad (a \in \mathbb{Z}_p).$$

Since $|x|_p < 1$, $|y|_p < 1$, $|x + y|_p < 1$, then $|x + j|_p = 1$, $|y + j|_p = 1$ and $|x + y + j|_p = 1$ for all $1 \leq j \leq p - 1$. Hence, we can write

$$\log_p B_p(x, y) = \sum_{j=1}^{p-1} G_p\left(\frac{x+j}{p}\right) + \sum_{j=1}^{p-1} G_p\left(\frac{y+j}{p}\right) - \sum_{j=1}^{p-1} G_p\left(\frac{x+y+j}{p}\right).$$

or

$$\begin{aligned} \log_p B_p(x, y) &= G_p\left(\frac{x+1}{p}\right) + G_p\left(\frac{y+1}{p}\right) - G_p\left(\frac{x+y}{p}\right) + \dots + G_p\left(\frac{x+\frac{p-1}{2}}{p}\right) \\ &\quad + G_p\left(\frac{y+\frac{p-1}{2}}{p}\right) - G_p\left(\frac{x+y+p-1}{p}\right) + G_p\left(\frac{x+\frac{p+1}{2}}{p}\right) + \dots + \\ &\quad + G_p\left(\frac{x+p-1}{p}\right) + G_p\left(\frac{y+\frac{p+1}{2}}{p}\right) + \dots + G_p\left(\frac{y+p-1}{p}\right) - \\ &\quad - G_p\left(\frac{x+y+1}{p}\right) - G_p\left(\frac{x+y+3}{p}\right) - \dots - G_p\left(\frac{x+y+p-2}{p}\right) \end{aligned}$$

Using Definition 1 and the equality above we obtain

$$\begin{aligned} \log_p B_p(x, y) &= \sum_{j=0}^{\frac{p-1}{2}} \log_p B\left(\frac{x+j}{p}, \frac{y+j}{p}\right) + \sum_{j=\frac{p+1}{2}}^{p-1} G_p\left(\frac{x+j}{p}\right) + \sum_{j=\frac{p+1}{2}}^{p-1} G_p\left(\frac{y+j}{p}\right) - \\ &\quad - \sum_{j=0}^{\frac{p-3}{2}} G_p\left(\frac{x+y+2j+1}{p}\right) \end{aligned}$$

By simple calculation and Definition 1 we can have that

$$\begin{aligned} \log_p B_p(x, y) &= \sum_{j=1}^{\frac{p-1}{2}} \log_p B\left(\frac{x+j}{p}, \frac{y+j}{p}\right) + \sum_{j=\frac{p+1}{2}}^{p-1} \log_p B\left(\frac{x+j}{p}, \frac{y+j}{p}\right) + \\ &\quad + \sum_{j=0}^{\frac{p-3}{2}} G_p\left(\frac{x+y+p+2j+1}{p}\right) - \sum_{j=0}^{\frac{p-3}{2}} G_p\left(\frac{x+y+2j+1}{p}\right). \end{aligned}$$

This completes the proof. \square

Acknowledgements: *The authors would like to thank the reviewers for their useful suggestions.*

REFERENCES

- [1] S. Araci, M. Acikgoz, K. H. Park, *A note on the q -analogue of Kim's p -adic log gamma type functions associated with q -extension of Genocchi and Euler numbers with weight α* , Bull. Korean Math. Soc. **50** **2**, (2013) 583–588.
- [2] D. Barsky, *On Morita's p -adic gamma function*, Mathematical Proceedings of the Cambridge Philosophical Society **89** **01**,(1981) 23–27 .
- [3] M. Boyarsky, *p -adic gamma functions and Dwork cohomology*, Trans. Amer. Math. Soc. **257** **2** (1980) 359–369.
- [4] J. Diamond, *The p -adic log gamma function and p -adic Euler constants*, Trans. Amer. Math. Soc. **233** (1977) 321–337 .
- [5] B. Dwork, *A note on p -adic gamma function*, Study group on ultrametric analysis, 9th year: 1981/82, **3** (Marseille, 1982), Inst. Henri Poincaré, Paris, (1983) , Exp. No. J5, 10 pp.
- [6] K. Iwasawa, *Lectures on p -Adic L -Functions*, Ann. of Math. Stud., vol. 74 Princeton Univ. Press, Princeton, NJ (1972)
- [7] T. Kim, *A note on analogue of gamma functions*, in Proceedings of the 5th Transcendental Number Theory, Gakushin University, Tokyo, Japan, (1997) 111–118
- [8] T. Kim, *On a q -analogue of the p -adic log gamma functions and related integrals*, J. Number Theory **76** **2** (1999) 320–329.
- [9] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys. **9** **3** (2002), 288–299.
- [10] H. Menken and Ö. Çolakoğlu, *Some properties of the p -adic beta function*, Eur. J. Pure Appl. Math., **8** **2** (2015) 214–231.
- [11] Y. Morita, *A p -adic analogue of the Γ -function*, J. Fac. Science Univ., Tokyo, **22** (1975), 225–266.
- [12] Y. Simsek, *On p -adic twisted q - L -functions related to generalized twisted Bernoulli numbers*, Russ. J. Math. Phys. **13** **3** (2006) 340–348.
- [13] W. H. Schikhof, *Ultrametric Calculus: An Introduction to p -adic Analysis*, Cambridge University Pres, 1984.
- [14] A. Volkenborn, *Ein p -adisches Integral und seine Anwendungen I*, Zeitschrift manuscripta mathematica **7** **4** (1972), 342–373

ÖZGE ÇOLAKOĞLU HAVARE, MERSIN UNIVERSITY, SCIENCE AND ARTS FACULTY, MATHEMATICS DEPARTMENT, 33343, MERSIN-TURKEY

E-mail address: ozgecolakoglu@mersin.edu.tr

HAMZA MENKEN, MERSIN UNIVERSITY, SCIENCE AND ARTS FACULTY, MATHEMATICS DEPARTMENT, 33343, MERSIN-TURKEY

E-mail address: hmenken@mersin.edu.tr